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QUESTION 1

The effective management of risk requires specific types of action. Which of the following pairs of actions would be
BEST to manage risk?

A. Training in risk management for all staff and identification of risks

B. Identification of risk, analysis and management of the exposure to risk
C. Control of exposure to risk and investment of capital

D. Training of all staff and investment of capital

Correct Answer: B

QUESTION 2

Which one of the following is the BEST description of a relationship in service asset and configuration management?
A. Describes the topography of the hardware

B. Describes how the configuration items (Cls) work together to deliver the services

C. Defines which software should be installed on a particular piece of hardware

D. Defines how version numbers should be used in a release

Correct Answer: B

QUESTION 3

Which one of the following is the BEST description of the purpose of the service operation stage of the service
lifecycle?

A. To decide how IT will engage with suppliers during the service lifecycle

B. To proactively prevent all outages to IT services

C. To design and build processes which will meet business needs

D. To deliver and manage IT services at agreed levels to business users and customers

Correct Answer: D

QUESTION 4
Why are public frameworks, such as 1TIL, attractive when compared to proprietary knowledge?

A. Proprietary knowledge may be difficult to adopt, replicate or transfer since it is often undocumented

EX0-001 VCE Dumps | EX0-001 Exam Questions | EX0-001 Braindumps 2/3


https://www.pass4itsure.com/ex0-001.html
https://www.pass4itsure.com/ex0-001.html
https://www.pass4itsure.com/ex0-001.html

2024 Latest passditsure EX0-001 PDF and VCE dumps Download

g VCE & PDF https://www.pass4itsure.com/ex0-001.html

— PassditSure.com

B. Public frameworks are always cheaper to adopt
C. Public frameworks are prescriptive and tell you exactly what to do
D. Proprietary knowledge has been tested in a wide range of environments

Correct Answer: A

QUESTION 5
A consultant has made two recommendations to you in a report:

1.

To include legal terminology in your Service Level Agreements (SLAS)
2.

It is not necessary to be able to measure all the targets in an SLA
Which of the recommendations conform to Service Level Management good practice?
A. 1 only
B. 2 only
C. Both of the above
D. Neither of the above

Correct Answer: D

EX0-001 VCE Dumps EX0-001 Exam Questions

EX0-001 VCE Dumps | EX0-001 Exam Questions | EX0-001 Braindumps

EX0-001 Braindumps

3/3


https://www.pass4itsure.com/ex0-001.html
https://www.pass4itsure.com/ex0-001.html
https://www.pass4itsure.com/ex0-001.html
http://www.tcpdf.org
https://www.pass4itsure.com/ex0-001.html
https://www.pass4itsure.com/ex0-001.html
https://www.pass4itsure.com/ex0-001.html

